University of Ottawa Diagnostic Practice Test – Week 3
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Which of the following binomials is a factor of the poly-
nomial 21z” + 2 — 107
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What is the (Euclidean) distance between the points
(~1,-2) and (2. -3)?

B) 2 o}
B

10

10
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and y = 2 on the interval [0, 1].

‘Which of the following statements is true?
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The perimeter of an isosecles triangle is 2 units. 1f two
of the sides of the triangle have length a. then give an
expression for the area of the triangle as a fnction of a.
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Evaluate cos(r) sin(r/4).
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